N of associated (recoToSim) looper tracks vs normalized X’

14 16 18 20

10 12

8

track x?

berset

| N of associated (recoToSim) tracks vs normalized x? |

ized x?

ack vs normal

tr

0

[N of reci

©
<
o
3
© ) 3 B ~ =) < ~
S . s 3 3 -
syoeq areajidnp oney

o .
N <
00 X
— O

g
© =
—
<
—
N 5
~
o
— 3
0 4
©
<
N <
o o i

o
syoel axey

a. 18
ZHWA (]
[r4
ERE
: W
O 5 Q0 | prosvecreeveieaea
—
N o
A 5==5] I S S
N
—
o
o &l
00
o P |t
<
o~ . . L o :
i ST
bt B e 5 T vt P R P P |
> m 5 o o =)
S S S s 3 3 -
syoel ann syoeX ani oney

4 6 8 10 12 14 16 18 20

2

track x2

0

[ Nof reco track vs.




	Contents
	Page 1


